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1. (20 Points) 2% 1ol& ©@w@o] o] xo wa WélE Chimneyo|th. 17)
] Assumed ModeE AM43H= Rayleigh-Ritz #do] s Exgge
g4 st 2} o}, Lagrange Equationg H-4£3t] x| ujuarA A4S F3}a).

EI(x)=EIo(8L-7x)/(8L), m(x)=my(4L-3x)/(4L)
u(x,t)=u(L,t)o(x)=q(t)d(x), d(x)=1-cos(nx/2L), P(x,t)=Po(t)

2. (25 Points) 28 29] Fojx 3= AE
9]¥ Vector P(t)7} &3tz Ut
7k (0) B 2"E Y e T AN L T (P9 T H))

. (10) Inverse Iteration W& o] &3t izt B2 uHF7|9 2=
£ T3tet (H 4 33 iteration, Rayleigh Quotient® ©] & A).
ot (10) Foward Iteration W& o] &3ld A3z R=9 1HF7|9 =

& T3tgt (84 33 iteration, Rayleigh QuotientE o] && ).
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